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1/3  Theincrease in temperature by 10 degrees Celsius is 10 times the unit rate of the conversion

function.

2/3  The equation for f is in slope-intercept form, so the slope of the graph is 1.8. This means the

unit rate is 1.8 degrees Fahrenheit per 1 degree Celsius.

3/3 | Therefore, for 10 degrees Celsius, the increase in Fahrenheit is 10 - 1.8 = 18 degrees
Fahrenheit.
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Agent Hunt is transferring classified files from the CIA mainframe into his flash drive.
S represents the size of the files on the drive (in megabytes) after £ seconds.

S =5t+45

How many megabytes are transferred every 10 seconds?

megabytes
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1/3  The size of the files being transferred every 10 seconds is 10 times the unit rate of the transfer.

2/3  The equation for S is in slope-intercept form, so the slope of the graph is 5. This means the unit
rate is 5 megabytes per second.

3/3  Therefore, in 10 seconds, 10 - 5 = 50 megabytes are transferred.
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‘When Quinn got home, he turned the air conditioner on.

Q represents the temperature in Quinn's home (in degrees Celsius) after £ minutes.
Q=42-07t
What was the temperature when Quinn returned home?

degrees Celsius
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1/3  When Quinn returned home, it was 0 minutes since he turned on the air conditioner. So the

temperature at that time is equal to the value of Q whent = 0.

2/3 Q=42-07t
=42 0.7(0)
=42

3/3 | When Quinn returned home, the temperature was 42 degrees Celsius.
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Temperature can be measured in two different common units: degrees Celsius and degrees Fahrenheit.

§ represents the temperature in degrees Fahrenheit as a function of the temperature ¢ in degrees Celsius.

f=32+18

What s the temperature increase in degrees Fahrenheit that is equivalent to a temperature increase by
10 degrees Celsius?

degrees Fahrenheit




